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ALLEN
HAVE CONTROL —» HAVE PATIENCE —> HAVE CONFIDENCE => 100% SUCCESS
(BEWARE OF NEGATIVE MARKING )

PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE

(E/H/J

Choose the incorrect statement of following:- | 1.  [II0I0I0OOIOIOTOIOTOODIOND

(1) In Gymnosperms, the multicellular female (1) U0iooioioibiOroditiomn ooQioiom
gametophyte is retained with in OO0OIONIOODOo0o000m
megasporangium - ] )

(2) In Marchantia, Gemma cells are haploid (G /7

(3) Pteridophytes are the firs terrestrial plants @) lU0dioIiIiODifOmoiDoiimdna
to possess vascular tissue and roots OIo00omonon

(4) In Broyophytes, some cells of the (4) 000000000 D00 OIoNIo] O O D0 OnmOicn o
gametophyte undergo meiosis to produce
gametes N OO A A Y AN

Choose the incorrect statement about | 2.  UIOIOOIOIOIIOIO0ONIOIOIONOOOIO00

taxonomic key :- (1) UlIoo0dmoommoa OOt oo o

(1) They are based on the contrasting characters ) (DO oD OOOOmo0n 0000

(2) Pair of contrasting characters are called lead O0010m

(3) They are generally analytical in nature (3) UlidiOooooiiOmoomioIoa

(4) Separate taxonomic keys are required for 4) IIDDO0OmMmOIoonnooo o oomm
each taxonomic category i

In bryophytes, during indirect germination of | 3.  OIION0IOI0I0IOIONOIOOIODI OO0 Ol

spore, which of the following filamentous (OO inrodmdCooomoooroiomn

algae like structure arise ? 00 O0O0nom

(1) Rhizome (2) Prothallus (1) 0010 (2) Uao

(3) Protonema (4) Pinnules (3) OO0 (4) (000

Which one of the following is mismatched? | 4. IR i i

(1) Conidia-Penicillium (1) DOmOU-2noen

(2) Bud-Hydra (2) LI04-Z00r

(3) Gemmules-Sponge (3) 0I00-000

(4) Heterocyst-Ulothrix (4) 0000000- o4

How many statements given below are correct? | S. JiOnoooooinI 0o onmonnG-

(A) Arthropods are mostly oviparous (A) UIIOIOINDIOIrUoNdiDODioonod

(B) Locusta is a living fossil B) L/Lrnuaiininoononnd

(C) In molluscs the space between the hump (C) UImOZ0ID00 (Hump) OIT00M (Mantle)I0
and mantle is called radula N A MY

(D) Molluscs are terrestrial or aquatic (D) UmOm Ui oioiiromoi oo oood

(13 (2)1 (13 )1

3) 2 4 4 (3)2 4) 4

Which one of the following statement is not | 6.  [[I0I0IOIOIMONONOI0IONDOOI0IOCOIDOIO0E

related with Amphibians : - 00 -

(1) Tympanum represent ear Q@ S A R

(2) Fertilization is external () [I000O0I0ONo0

(3) Most of them have four pairs of limbs (3) UlUoloidmorooitmionioa

(4) Hyla is a tree frog ) Jronnalofoooriotood
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After fertilisation ovule convert into the seed

and micropyle remain as a small pore in the seed

coat that facilitate.

(1) Entry of oxygen

(2) Entry of water

(3) (1) and (2) both

(4) None of the above

Read the following statements :-

(i) The cells of permanent tissue generally
divide further

(i1) Sclereids are dead and without protoplast

(iii) Collenchyma occure in layer below the
epidermis of young stem in monocotyledon
plant

(iv) On the basis of function sclerenchyma are
divided into fibre and sclereids

How many above statement is correct and

incorrect.

(1) 2 correct, 2 incorrect

(2) 1 correct, 3 incorrect

(3) 3 correct, 1 incorrect

(4) 4 correct, 0 incorrect

Find the correct match :-

(1) Mustard — K
(3) Potato — K

(2) Pea - A,
(4) Chilli - C,

(2+2)

(5)

The types of muscles present is our :-

(1) Intestine are striated and involuntary

(2) Heart are unstriated and involuntary

(3) Thigh are striated and voluntary

(4) Upper arm are smooth and voluntary

Study the four statements (a-d) given below and

select the two correct ones out of them :-

(a) In frog fertilisation is external and takes
place in water

(b) Each ovary of cockroach is formed of a
group of 8 pairs of ovarioles

(c) In
developement occur within the cocoons

earthworm fertilisation and
(d) In Periplaneta entire midgut is lined by cuticle.
The two correct statement are :-

(1) (a) and (b) (2) (b) and (c)

(3) (¢) and (d) (4) (a) and (c)

7.

10.

11.
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Which one of the following statement is/are not

correct for 80s ribosome?

(a) Present in prokaryote and eukaryote

(b) Not surrounded by any membrane

(c) "S" is indirectly is a measurement of size
and density

(d) Composed of two subunit 50s and 30s

(1) Only a (2) Only b & ¢

(3) Only a and d (4) Only a & ¢

When more than one adaptive radiation

appeared to have occured in an isolated

geographical area representing different
habitats, one can call this...............

(1) Divergent evolution

(2) Convergent evolution

(3) Natural selection

(4) Marsupial radiation

Before two million years ago Australopithecus

probably lived in which place :-

(1) Ethiopia

(2) North african grasslands

(3) East african grasslands

(4) West african grasslands

Before how many years Dinosaur suddenly

disappeared from the earth :-

(1) 100 million year  (2) 65 million year

(3) 200 million year  (4) 165 million year

Which of the following scientist is the initiator

of "Lab-to-land" programme :-

(1) M. S. Swaminathan

(2) Norman borlaug

(3) Herbert Boyer

(4) Panchanan Maheshwari

During endosmosis of water in roots, the water

potential of cell sap of root hairs is : -

(1) Lower than the water potential of pure water
but higher than the water potential of soil
solution

(2) Higher than the water potential of both pure
water and soil solution

(3) Higher than the water potential of pure water
but lower than the water potential of soil
solution

(4) lower than the water potential of both pure
water and soil solution

12.

13.

14.

15.

16.

17.
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(1) M. S. DO

(2) UI001ooom

(3) 00000Oo

(4) 000000000
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J0i0roonom - -
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0om
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Which of the following elements is not the

constituent of chlorophyll but essential for the

formation of chlorophyll?

(1) Iron (2) Magnesium

(3) Nitrogen (4) Calcium

Following are the steps of the catalytic cycle

of an enzyme action :-

(1) Enzyme releases the product and is ready
to bind to another molecule of the substrate

(i1) Binding of the substrate induces the enzyme
to alter its shape, fitting more tightly around
the substrate

(ii1) The active site of the enzyme now in close
proximity of the substrate breaks the
chemical bonds of the substrate

(iv) The substrate bind to the active site of the
enzyme

Choose the correct sequence of the steps : -

(1) (1) > (1) — (iii) — (iv)

(2) (iv) = (i1) — (iii)) = (1)

(3) (iv) — (iii) — (i) — (ii)

(4) (iv) — (iii) — (i) > (1)

y Al
N (12.50m?)
4 Y

In above diagrams, A and B are initial areas of

leaves. A' and B' are areas of leaves after

growth. Which of the following is correct ?

(1) Both relative and absolute growth of leaves
are same

(2) Absolute growth same, but relative growth
different

(3) Absolute growth different, but relative
growth same

(4) Both absolute and relative growth of leaves
are different

How many fishes in the list given below are not

marine ?

Catla, Pomfret, Common carp, Hilsa, Rohu,

Mackerel, Salmon

(1) Six (2) Three

(3) Four (4) Five

18.
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events given below, which are involved in the
mechanism of hearing and recognition of a

sound by you ?

(A) Waves in the lymph induce a ripple in the
basilar membrane and hair cells are pressed
against the tectorial membrane

(B) Nerve impulses are generated in the
associated afferent neurons

(C) Transmission of the impulses by afferent
fibres to the auditory cortex of brain where
they are analysed and the sound is
recognised

(D) Vibrations are passed through the oval
window to the fluid of cochlea, where they
generate waves in the lymph

(E) Ear drum vibrates in response to the sound

waves and these vibrations are transmitted

through the ear ossicles to the oval window
(H)D, E, A, B, C 2)D,E C, A, B
3)E, D, A, B, C @ E,D,B, A C

> Btz PRE-MEDICAL : ENTHUSIAST, LEADER & ACHIEVER COURSE |(24-05-2013

Which of the following statement is incorrect | 22. MOET WD O OME o0 00mom
with regards to MOET? (1) MOET [IIIMNIDT DI mmm o oroe g
(1) MOET has been demonstrated for cattle, oo omomoomom

sheep, rabbits, buffaloes, mares etc. (2) MOET 0000I0I000I0I0I0N0n0 00000
2) .MOtI;:Ttli.used to increase animal size DO ONO OO

in short time
(3) The fertilised eggs are recovered and @) IIOIoiOmM Moo n OO omoon

transferred in surrogate mother. 00
(4) Pituitary hormones are injected into the (4) D[DDmmD]DJDJ[D]DDDH:DHDWH—H_HHHMDHHHHH—HW-‘D

genetic mother to cause super ovulation. A A
Close circulatory system present in :- 23, [I00OO00DO0IOID0NO0O oS
(1) Annelida and Arthropoda (1) DO QmNooUonnoono
(2) Annelida and Chordates (2) DIOON0IIOnono
(3) Mollusca and Arthropoda (3) UdoodomUonmno
(4) Arthropoda and Chordates (4) OIIoiomomomsmoro
Identify alphabet (a)(b)(c) and choose correct | 24, [IIUIOIIa)b) (o) UIDOOMNONIDITHOOIONO0
combination :- . 01oo - .

Aspartic Aspartic
acid acid
Carbamyol a Carbamyol a
phosphate phosphate
ornithene Argino succinic acid ornithene Argino succinic acid
Um(\ b /C Um{\ b /C
c

(1) a-arginine, b-succinic acid, c-Fumaric acid (1) a-arginine, b-succinic acid,cc—Fumaric acid
(2) a-citrulline, b-arginine, c-succinic acid (2) a-citrulline, b-arginine, c-succinic acid
(3) a-citrulline, b-fumaric acid, c-arginine (3) a-citrulline, b-fumaric acid, c-arginine
(4) a-citrulline, b-arginine, c-fumaric acid (4) a-citrulline, b-arginine, c-fumaric acid
Select the option with the correct sequence of | 25. [UUIIINITNOIOIIHIOIOOOOIOIIDII0IT

00O oOmrnoro oo idIotoo

glooed

(A) [DIDOMITOIOLooooormyooroIm
JOIrorioibdrtoomionooo

(B) LI0IDIOUniRbdIomomiom:
Oioiom

O UmiiomooOmooUOdioooo
OO0 omoMorCooontimonmd
QO0rOoIom

(D) D00 OIHiooUiCIoooItooora
Q00U ordioioIioonomiooea

(E) I0I00I0Omotdniooiiitioinnnot
O e
[Dioonobioooooa

(1)D,E, A, B, C

2)D,E, C, A, B

3)E,D, A, B, C @4 E,D,B, A C
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Read the following four statement (A to D) :-

(A) Thyroxin, cortisol and erythropoietin
hormones support the process of red blood

cell formation

(B) Catecholamines stimulate the breakdown
of glycogen resulting in an increased

concentration of glucose in blood

(C) PTH is a hypocalcemic hormone that acts
on bones and stimulates the process of bone

resorption/dissolution

(D) Estrogen and progesterone stimulate
gonadial activity and hence are called
gonadotrophins

How may of the above statements are correct:-

(1) Only one (2) Two

(3) Three (4) Four

FSH acts on the sertoli cells and stimulates
secretion of some factors which help in the

process of :-

(1) Implantation

(2) Oogenesis

(3) Functional maturation of sperms

(4) Spermiogenesis

How many types of gametes will be produced

by a tryhybrid individual, where last two genes

are completely linked ?
(1) Eight
(3) Six

(2) Four
(4) Two
Number of linkage groups :-

(1) Is always equal to number of diploid set of

chromosomes
(2) Is seven for Drosophila
(3) Does not include sex chromosome

(4) Is one more than the haploid set of

chromosomes in human males

26.

27.

28.

29.
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Select the incorrect match :-
(1) Blood group A = Addition of N-acetyl
glucosomine on lipid
(2) Blood group B = Addition of galactose on
lipid
(3) Blood group AB = Presence of either
N-acetyl glucosomine
or galactose on lipid
(4) Blood group O = Absence of both N-acetyl
glucosamine and galactose
on lipid chain

L OO
J= J=IGK J=

I

What is the genotype of II (3) :-

(1) AA (2) aa

(3) x% (4) Aa

In India the bio safety guide lines and
regulations are available from which of the
following organisation :-

(1) FAO (2) DBT

(3) GEAC (4) CFTRI
Ringworm is caused by :

(1) Bacteria (2) Viruses

(3) Fungi (4) Protozoans
Recombinant DNA technology has allowed the
production of antigenic polypeptides of
pathogen in :

(1) Yeast (2) Virus

(3) Bacteria (4) Both (1) and (3)
Entamoeba histolytica resides in :

(1) Stomach

(2) Liver

(3) Small intestine

(4) Large intestine

Which is not the attribute of organism for adaptation-
(2) Physiological

(4) Mutation

(1) Morphological
(3) Behavioral

30.

31.

32.

33.

34.

3s.

36.

goidroonioroooioroo.-

(1) 101000 A = N-acetylglucossamine [III00L

(2) (00000 B = OON0IOOODOION DD

(3) JOIUO0 AB = I N-acetyl-glucosamine
JoooorooomOOIodnomnoD

(4) [O0DOI O = N-acetyl glucosamine [ITHOOH
1 A A U

L OO
J= J=icK J=

I

(00I00I00T00 (3) Onomno0ommiormor.-
(1) AA (2) aa

(3) x°% (4) Aa

I N A M
gUinIoooonoe::

(1) FAO (2) DBT
(3) GEAC (4) CFTRI

00000 O0onom

(1) U0 (2) 1000

(3) Uod (4) 00000
U00IDOIDNA D000 e e I A

OloOioiouioooIOronninodiri;
(1) U0t oooo (2) [0
(3) 00O @ (1) U 3) UL

LoCme O mnnonnim

(1) 0l

(2) 0OoOId

(3) Lo

(4) 00000
IrOmroroIooooo oo oiooTr:
(1) DOm0 (2) 00O

(3) 0000 (4) 00000
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Find out the wrong statement regarding tropical
rain forest :-

(a) Critical link species are abundant
(b) Has less seasonal variation

(c) Abiotic components are the major

pollinators

(d) Energy flow is the functional attributes of
biotic community

(I)a, b 2)c, d

(3) only ¢ (4) None

There is no limitation in detritus food chain for

number of trophic level because :-

(1) 10% rule is not applicable

(2) High magnitude of energy

(3) Slow energy transfer

(4)Both 1 & 2

How many statement are correct for Ecosystem

sustainability :-

(a) Presence of energy input source

(b) Presence of physical components

(c) Presence of decomposers

(d) Presence of biogeochemical cycle

(1) a, b, c 2)b,c,d

(3)a, b, c, d 4)a, c d

How many statements are true :-

(a) Pioneer species always invade the bare land
initially

(b) Succession and evolution is parallel process

at the primitive earth

(c) Earthworm and fungi use the same
mechanism for decomposition.

(d) Gross primary productivity and Net primary

productivity both are the rate of biomas

production
(Haé&d 2)a&b
B3)a,b&c (4)a,b,c&kd
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A cart of mass 0.5 kg is
placed on a smooth
surface and is connected
by a string to a block of
mass 0.2 kg. At the initial
moment the cart moves to the left along a horizontal
plane at a speed of 7 m/s. (Use g = 9.8 m/s?)

Which of the following statement is incorrect :-

(1) The acceleration of the cart is 7g towards
right

(2) The cart comes to momentary rest after 2.5s

(3) The distance travelled by the cart in the first
S5sis 17.5 m

(4) The velocity of the cart after 5s will be same
as initial velocity

A man of mass m stands on a

platform of equal mass m and

pulls himself by two ropes

passing over pulleys as

shown. If he pulls each rope

with a force equal to half his X\

his upward

acceleration would be :

weight,

M3 @ 5

3 g (4) Zero

Ratio of the ranges of the bullets fired from a
gun at angle 0, 20 & 46 is found in the ratio
x : 2 : 2, then the value of x will be (Assume same
speed of bullets) :-

(11 (2)2

2
3) 3 “) N

A particle moves in XY plane such that its
position, velocity and acceleration are given by

f=xi+y} ; \7=VX{+Vy3 ; 5=axi+ay}

Which of the following condition is correct if
the particle is speeding down

(D) xv_+ yv, < 0 (2) xv_+ yv, > 0
3)ayv + ayv, < 0 4 ayv + ayv, > 0
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An elevator and its load have a total mass of
800 kg. If the elevator, originally moving
downward at 10 m/s, is brought to rest with
constant decleration in a distance of 25 m the
tension in the supporting cable will be

(g = 10m/s?) :-
(1) 8000 N (2) 6500 N
(3) 11200 N (4) 9600 N

Person A observes B moving in east direction
with speed 10 m/s, B observes C moving in
south direction with speed 20 m/s, C observes
D moving in west direction with speed 30 m/
s & D observes a tree moving with speed 40
m/s in north direction.Then the actual direction
of motion of person 'A" will be :-

(1) North — West (2) North — East

(3) South — East (4) None of these

A block is placed on a rough horizontal surface
and a horizontal force F is applied to it as shown
in figure. The force F is increased from zero in
small steps. The graph between applied force
and frictional force f is plotted by taking equal
scales on axes. The graph is

rough | m |—>F

(1) a straight line of slope 45°

(2) a straight line parallel to F-axis

(3) a straight line parallel to f-axis

(4) a straight line of slope 45° for small F and

a straight line parallel to F-axis for large F.
A chain of length L. and mass m is placed on
a smooth surface. The length of BA is (L — b).
calculate the velocity of chain when its end
reaches B :-

2gsin®, , |, gsin® _, ,

et ( 2, 54— (L -
(1)\/ L (L' =b%) (2) 1/L( b)

/gsme b)) @) /gsme _b?)
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If biprism experiment is performed in water

instead of air, then :-

(1) Fringe pattern is formed but fringe width is
less

(2) Fringe pattern is formed but fringe width is
more

(3) Fringe pattern is formed and its fringe width
remains unchanged

(4) Fringe pattern is not formed at all

The path difference between two interference

waves at a point on a screen is 11.5 times the

wavelength. The point is :-

(1) Dark

(2) Bright

(3) Neither dark nor bright

(4) Data is insufficient

A wheel rotates with an angular acceleration

given by o = 4at’ — 3bt’, where t is the time

and a and b are constants. If wheel has initial

angular speed o,, then the equation for the

angular speed will be :-

(D) o=at*-bt? -0,
(2) o=at®-bt* +o,
(3) ©=wy+at* —bt?

(4) o=12at’>—6bt+n,

Mark the wrong statement :-

(1) If a freely rotating body expands then its
angular momentum does not change

(2) If a solid cube is melted and cast into the
shape of a sphere both of its inertia and
moment of inertia changes

(3) Two rotating discs having same radius and
same thickness but different densities have
different inertia and different moment of
inertia

(4) Moment of inertia of body is not a fixed
number

The temperature of a perfect black body is

727°C and its area is 0.1 m?. If stefan's constant

is 5.67 x 10 Wm=2K™, then heat radiated by

it in 0.3 minutes is :-

(1) 1701J

(3) 102060 J

(2) 17010 J
(4) 102.06 J
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Temperature of an ideal gas is 300 K. The
change in temperature of the gas when its
volume changes from V to 2V in the process
P = aV (here a is a constant) is :-

(1) 900 K (2) 1200 K

(3) 600 K (4) 300 K

Consider two process A and B on a system as
shown in the figure let AW, and AW, be the
work done by the system in the process A and
B respectively then :-

PA 'yl
;B .V,
Lo
- - >
(1) AW, > AW,
(2) AW, < AW,
(3) AW, = AW,

(4) Nothing can be said about the relation
between AW, and AW,

I mole of H, at 47°C and at pressure

4 atmosphere is mixed with 2 mole of N, at 127°

and at 5 atmosphere such that the volume of

their mixture is the sum of their initial volumes.

If the mixture is at temperature 97°C, pressure

of the mixture will be nearly :-

(1) 2.2 atm (2) 3.4 atm

(3) 4.6 atm (4) 1.8 atm

An object of mass 0.2 kg executes simple

harmonic motion along x-axis with frequency

of 25/n Hz. At the position x = 0.04 m, the

object has a kinetic energy of 0.5 J and

potential energy of 0.4 J. The amplitude of

oscillation is equal to :-

(1) 0.05 (2) 0.06

(3) 0.01 (4) 0.03

The potential energy of a particle of mass 1 kg in

motion along the x-axis is given by :

U = 4(1 — cos2x)J, where x is in metres. The

period of small oscillations (in sec) is :-

(1) 2n @) \2n

T
RO
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At a point, beat frequency of n Hz is observed.

It means that :

(1) medium particles at that point are vibrating
with a frequency of n Hz.

(2) amplitude of vibrations changes simple
harmonically with frequency n Hz at the
point only

(3) at that point, zero intensity is observed 2n
times per second

(4) amplitude of viberation changes simple

n
harmonically with 5 Hz at the point

In the case of stationary waves all the particles

of the medium between two nodes vibrate :-

(1) in phase but with different amplitudes and

time periods

(2) in phase and with same amplitude and time
period

(3) in phase with the same time period but

different amplitude

(4) with the same time period but in different
phases and with different amplitudes.

In a vibration magnetometer, the time period

of a bar magnet oscillating in horizontal

component of earth's magnetic field H is 2

second. When a magnet is brought near and

parallel to it, the time period reduces to 1

F
second. The ratio ﬁ of the field F due to

magnet and the horizontal component H, will
be : -

1
(1) 3 3B @ NG

() L

3
A square of side L meters lies in the x-y plane
in a region, where the magnetic field is given
by B = Bo(i+2j+3f<) where B is constant.

The magnitude of flux passing through the
square is : -
(1) 2 B, L*> Wb

(3) 4 B, L> Wb

(2) 3B, L* Wb
4) 29 B, L* Wb

59.

60.

61.

62.

I R s AR AR i

QoIorm:

(1) DUIDIOIOOodiolDiie Hz OIDITIOIONOD
Qooiod

(2) DUIODOIOIONIOIDT I Bz OOMIOIO0O
R i

(3) DUIDI0IOoIOIoUCoOl2a OIOIOTOIOIODODOIID
Qood

4) DDIDHD]DDDDDJD]DDDHDUD]% Hz 0000000

UD0iDoIononoNooa
Uu0nIoItiOmoroinNoroodnoitiomoood
Oorooiooroodoe:

(1) OO0 DIOdr Do o O a oy
(2) 000D OO O oo
(3) DUINODDI oo oot ooty

(4) DD D00 OImUioooro 0 odimon
RN
[O0IOIIIouiriniinoinonniorm
I000e DiTOUIoriorooiuimorarbmoiomi2
0 A A
OiOIOImionotomoan oaoitioniio
OI00OOrmuooir iNmomoom 00ooo

F -
m gnoiome: -

(13

1
3B @ NG
x-y 00000100000000000 0000 0000000010

L
@ 3

B = B,(i+2j+3k) DII00IB, ONIO0DOMD L

IOMIOIniIOIomoinoooooogio

Q00noeI-
(1) 2 B, L> Wb
(3) 4 B, L> Wb

(2) 3B, L* Wb
4) 29 B, L* Wb

@H\D\D (Il 0000 Key Filling

00 00000000 0iom EIDDDDD)

Your Target io to cecane Good Rank in Pre-Medical 2015

| 13/35_




63.

64.

65.

66.

[ 14/35 |

CAREER INSTITUTE
wccess JROTA (RAJAS THAN

MAJOR TEST : AIIMS

TARGET : PRE-MEDICAL 2013

24-05-2013

Two insulating plates are both uniformly charged
in such a way that the potential difference
V=20 V. (e, plate 2 is
at a higher potential). The plates are separated by

between them is V, —

d =0.1 m and can be treated as infinitely large.
An electron is released from rest on the inner surface
of plate 1. What is its speed when it hits plate 2 ?

e=1.6x 10" C, my =9.11 x 107! kg)
(1) 2.65 x 10° m/s
Y
0.1m

‘ H \ L,
(3) 1.87 x 10° m/s

1 2
(4) 32 x 10719 m/s

Let C be the capacitance of a capacitor

(2) 7.02 x 1012 m/s

discharging through a resistor R. Suppose t; is
the time taken for the energy stored in the
capacitor to reduce to half its initial value and
t, is the time taken for the charge to reduce to
one-fourth its initial value. Then the ratio t;/t,
will be :

1 1
12 @)1 G 5 @) 5

Two identical conducting wires AOB and COD
are placed at right angles to each other. The
wire AOB carries an electric current I; and COD
carries a current I,. The magnetic field on a
point lying at a distance d from O, in a direction
perpendicular to the plane of the wires AOB
and COD, will be given by-

4+ 1
o 2 (452

() 320 +L) @

1/2
)1/2

Ho (2 2
@) (|l+|2

2“°d (12+12)
A thin circular disk of radius R is uniformly
charged with density o > O per unit area. The
disk rotates about its axis with a uniform
angular speed ®. The magnetic field at centre
of the disk is :-

(1) poRoo (2) HoRCOG

a4 4

3) R cw 4) mR cw
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Density of

conduction electrons

(1) Same in X and Y
(2) Same in X and Y
(3) Same in X and Y

(4) More in X than Y
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The self-inductance of the motor of an electric
fan is 10 H. In order to impart maximum power
at 50 Hz, it should be connected to a
capacitance of-

(1) 4 pF (2) 8 uF

(3) 1 pyF (4) 2 pF

Figure shows a thick copper rod X and a thin
copper wire Y, joined in series. They carry
a current which is sufficient to make Y much
hotter than X. Which one of the following is
correct?

Mean time between
collisions of the
electrons

Less in X than Y
Same in X and Y
More in X than Y
less in X than Y

Calculate current from battery just after switch

is closed (t —» 0) :- R L

E

E
e  @x

3) % (4) Zero _|E R Sw

A constant voltage is applied between the two
ends of a uniform metallic wire. Some heat is
developed in it. If both length and radius of the
wire are halved then the heat developed in the
same duration will become —

(1) Half (2) Twice

(3) One-fourth (4) Same
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(Use stop, look and go method in reading the questiorD

|
Your Target io to cecane Good Rank in Pre-Medical 2015

| 15/35_




71.

72.

73.

74.

75.

[ 16/35 |

CAREER INSTITUTE
wccess JROTA (RAJAS THAN

MAJOR TEST : AIIMS

TARGET : PRE-MEDICAL 2013

24-05-2013

A particle of mass m is released from a point
on the axis of a thin uniform heavy ring of
mass M as shown in fig. The speed with which
it crosses the plane of the ring is :-

GM 2GM
Dy~ @V R
4 GM 3 GM
Oz R @R

The near point of a person is at 1m. The power
of the lens needed so that he can read at a
distance of 25 cm.

(1) 1D (2) 2D (3) 3D 4) -3D

The length of astronomical telescope is 15 cm

and has magnifying power 4 for normal

adjustment. Focal length of the lenses are :-

(1) 3 cm, 12 cm (2) 2 cm, 12 cm

(3)3cm 15 cm (4) 4 cm, 11 cm

When photons of energy hv fall on a photo

sensitive metallic surface (work function hv,)

electrons are emitted from the metallic surface.

This is known as photoelectric effect. The

electrons coming out of the surface have a K.E.

It is possible to say that-

(1) All ejected electrons have the same K.E.
equal to hv — hv,.

(2) The ejected electrons have a distribution of
K.E., the most energetic ones having K.E.
equal to hv — hv,.

(3) The most energetic ejected electrons have
K.E. equal to hv.

(4) The K.E. of the ejected electrons is hv,,.

A nucleus of mass M + Am at rest splitts into

two different nuclei each of mass 5 If speed

of light is c then speed of each nuclei is :-

(1) [ 2ame’ @) 4,50
M M
Amc?
3) M (4) None of these
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m 0001 OI001000 O M DioOaIfioorioo
A
NOImDhiOoiONiUIoomUooogmg

I M

R

O . m

x=\/8T§ >

GM 2GM

WVR @V R
4 GM 3 GM

Oz R @R

000000 0ol ol tm QOOOMOMO O DIO0]
000 OI0000 Dioo0onot25 em OODOOMDIOOO0OO
000n 0m

(1) 1D (2) 2D (3) 3D (4) -3D
000000000 O 00Ol 15 em UTIOID OO000 007
000000 00ron Lo id0o 4 O Dodo O oo oo oodo
000 -

(I) 3 cm, 12 cm (2) 2 cm, 12 cm

(3)3 cm 15 cm (4) 4 cm, 11 cm
[DOInOOIooOmIoonoionitidh 0000

000hy 00N OO0 00000000

00 0 0 WA

1

0000 OonOo oI

(1y 0001000 000100001000 000 0000 0000 O
(hv — hv,) 000000 D000

@) D000 MImooO OO o D0D I Imoma
0ONODO00NONI00I00! (h — hv,) DO

@) D000 OO OO OO OO 000
O0Thy OO0

(4) NI0I00N0000I00CN000I00. hv, 000D

UOIoooororodiodoiooiM + Am Imd

OO0 OmO OO OO 00 OO0

DIDHDID[DD]DDJD]% OMOII0ONOn I O

000 OoOnOIC OO DI

| 2Amc? 2 4 A_m
R @ 4|

2
3) ,|Ame @) I0000CO0:

M
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If the rate of energy emitted from a star is
4.5 x 1035 J/s, then the rate of loss of its mass
will be-

(1) 5 x 10" kg/s (2) 5 x 10" kg/s

(3) 5 x 10™ kg/s 4) 5 kgls

Four equal resistors, each of resistance 10 ohm
are connected as shown in the adjoining circuit
diagram. Then the equivalent resistance
between points A and B is :-

C
A SZ B
D
(1) 40 ohm (2) 20 ohm
(3) 10 ohm (4) 5 ohm

If the following input signal is sent through a
P-N junction diode, then the output signal
across R, will be :-

AAAA
yyvy
-~

10V,
(1) @) | ‘
I L e
20V
@ L @ | ‘

Two solid spheres of same material but of mass
m and 8m fall simultaneously in a viscous liquid
and their terminal velocities are v and nv then
value of n is : -

(1) 16 2) 8 3) 4 “4) 2

A capillary tube of radius r is immersed in
water and water rises in it to a height h. The
mass of water in the capillary tube is 5 g.
Another caillary tube of radius 2r is
immersed in water. The mass of water that
will rise in this tube is : -

MH25g (2)50g B)10g @) 20¢

76.

77.

78.

79.

80.

IO 0InIDDoUoOdml 4.5 x 10 000
J0IoODIoiDOronnoIdronond

(1) 5 x 10® [OO00T  (2) 5 x 10 [0000T

(3) 5 x 10% 00000 (4 5 1000

0o & OOoIIdinnrodooooomn:
(Iroioia O0s QIO00I00OTOT DIOOIT o0 -

C
A SZ B
D
(1) 40 ohm
(2) 20 ohm
(3) 10 ohm
(4) 5 ohm

(UIDitItioomy-N DD 0DOIN00 IO omm:
IR, OIO0IOIIO0ONOIOO0000E.-

AAAA
yyvy
-~

oL

20V
3 U o) | ‘

OOOroIonIoOOrOronoin 007 8m OMO
DDDDHDH:DDJD]DDDDD_DDDDDH]EID[DDDDD_DDDDDDDDDDHD
v U0 nv U0 n OOOOCONOT: -

(1) 16 2) 8 3) 4 “4) 2
r (D00 Do0Oronoaioon o omoioea
h DOIDODOOOIOI O oo o omimitom

5¢ DOIDIOR D00 I0IiUroodomoom
O0Iomitioimbriibotui0noinooos: -
1MH25g (2)50g (B3)10g @) 20¢g
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The resistance of a solution 'A' is 40 ohm and that
of solution 'B' is 70 ohm, both solutions being
taken in the same conductivity cell. If equal
volumes of solutions 'A' and 'B' are mixed, what
will be the resistance of the mixture using the same
cell ? (Assume that there is no increase in the
degree of dissociation of 'A' and 'B' on mixing)
(1) 50.9 ohm (2) 101.8 ohm

(3) 110 ohm (4) 55 ohm

In presence of HCI, metallic tin (Sn) is oxidised
into stannic chloride with the help of K,Cr,O,.
How many mL of 0.1 N K,Cr,O, will be required
for the oxidation of 1 gm of tin

(Atomic mass of Sn = 118.7)

(1) 226.98 (2) 336.98

(3) 405.86 (4) 306.98

20 g of a binary electrolyte (mol. mass = 100) are
dissolved in 500 g of water. The freezing point of
the solution is —-0.744°C, K, = 1.86 K molality ™.
The degree of ionisation of the electrolyte is :-

(1) 50% 2) 75%

(3) 100% (4) Zero

Electrolysis of dilute aq. NaCl solution was carried
out by pasing 10 mA current. The time required
to liberate 0.01 mol of H, gas at the cathode is:-
(1) 9.65 x 10* sec. (2) 19.3 x 10* sec.
(3) 28.95 x 10* sec. (4) 38.6 x 10* sec.

K, for water is 1.86 K Kgmol ™. If your automobile
radiator holds 1 kg water, how many grams of
ethylene glycol (C,H,O,) must you add to get the
freezing point of the solution lowered to —2.8°C?
H27¢g 72¢g

3)93 ¢ 4)39¢

On heating vapours of S (g) decomposes to S,(g).
Due to this the vander waal's constant 'b'.

(1) Increases

(2) Decreases

(3) Remains same

(4) Changes unpredictably

How much heat is absorbed by 10 mole of an ideal
gas if it expands from an initial pressure of
8 atmosphere to 4 atmosphere at a constant
temperature of 27°C. (R = 8.31 JK™! mol™)
1o (2) 1.728 x 10*J

(3) 8.271 x 10*J 4)2.78 x 10°J
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OOrooodr A OI0I00IT40 ohm UTTOOOOMB! LI
70 ohm UIIIIOODOIOIOONONOO0IODOION
OO0 dnddoorAr 0ol B OiDODURoONOOm
Moo LDiri oot OrOniom,
ooy (orbrar 0o B O00diorooeo

QiIdonor oooi oo o Doy

(1) 50.9 ohm (2) 101.8 ohm

(3) 110 ohm (4) 55 ohm

HC1 OO0 Ol OOMO0NSn), K,Cr,0, LI
0 A 0 A
noloioooioororotion N K Cr,0, 01000
mL O 0000007001?

(Sn UIUOCTION = 118.7)

(1) 226.98 (2) 336.98
(3) 405.86 (4) 306.98
OOI00CO4binary) [000OOIO0 (OII0DDIDOD =
100) 20 TI0MT500 TOOOHIIOMONIMIIODOO

UI00:0R0.744°C IK, = 1.86 K 0O0UI. [OOL
N

(1) 50% ) 75%

3) 100% @) 00

NaCl1 U100 I0000IOM000I 00000010 mA IO
OOnoIDIOI0OIOIIMmMUnTo.o1 UM, 0
0

(1) 9.65 x 10* sec. (2) 19.3 x 10* sec.
(3) 28.95 x 10* sec. (4) 38.6 x 10* sec.
OI0TOIIOTIK,, 1.86 K Kgmol™ UMOIIOIO
UIO0i0iooooion ke UOMOMIOMIQoaIom
(ODOrtoodie, 1 .o HInooimimim omoda

_».8°C OINONO0I000m
27 ¢ 2)72 ¢g
(3)93 ¢ 4)39 g

O00DI0I00IS(g) IIOINIS () OIIDOIOOIONON
Jmotitooolonootoioial e

(1) 00000

(2) 00000

(3) 00oioooon

(4) U000 DOrOoQoipoI oo

27°C (0000000 DlOOND MmO Moo nm
8 LI000O0OI0MM DiboiubiinODOrro om0
IDOTOOOTIIONIIR = 8.31 JK ! mol ™)
(10 (2) 1.728 x 10*J

(3) 8.271 x 10*J (4)2.78 x 10° J

{Take it Easy and Make it Easy )

| it A

—
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When 1.0 g of oxalic acid is burnt in a bomb
calorimeter heat
8.75 kJ/K, the temperature increases by
0.312 K. The enthalpy of combustion of oxalic
acid at 27°C is :-
(1) =245.7 kJ/mol (2) —244.452 kJ/mol
(3) —246.947 kJ/mol (4) None of these
The molecularity of a complex reaction given
below is :-

2N,0; (g) —> 4NO,(g) + O,(g)
M1 2)2
3)3 (4) Not defined
The standard emf of cell, involving one electron
change is found to be 0.591 V at 25°C. The
equilibrium constant of the reaction is
(F = 96500 C mol™, ; R = 8.314 JK'mol™")
(1) 1.0 x 10" (2) 1.0 x 10°
(3) 1.0 x 10" (4) 1.0 x 10*
What is the [OH] in the solution prepared by
mixing 20.0 ml of 0.050 M HCl with 30 ml of 0.10

whose capacity is

M Ba(OH),
(1) 0.10 M (2) 0.40 M
(3) 0.0050 M 4)0.12 M

20 ml, 5 M NaNO2 solution is mixed with
100 ml, 2M HNO, solution to prepare a buffer
solution of pH =5.7. The Ka of HNO, is :-

(1) 107 (2) 107

(3)4x107° 4)4 %107

300 ml, N/100 HNO3 solution is mixed with 200
ml, N/100 KOH solution. The [H*] in the resultant
solution is :-

(D2x 107 (2)2x 1073

(3)5% 107 4)2 %1072

Silver crystallises in fcc lattice. If edge length of
the cell is 4.07 A and density is 10.5 g cm™.
Atomic mass of the silver is :-

(1) 107.09 (2) 201 (3) 98

The following equilibrium are given
CO + H,0 = CO, + Hy - K,
2H, + O = 2H,0 --—------ K,
then equilibrium constant of the reaction
2C0O + Oy = 2CO0;5 is :-

4) 110

K

WK K @ KK @K K,

88.

89.

90.

91.
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93.
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000875 kJ/K OIIOININUOIDIOIOIOl O IaIoe
001 ¢ OI0OIDOIDIDIONDDOOI 000000 Unong
0.312 K 0I000T O 27°C DO D0OIO0OIOIONO
OooIomoimn ool ooa
(1) —=245.7 kJ/mol (2) —244.452 kJ/mol
(3) —246.947 kJ/mol (4) None of these
[noloonuinoIDiotoomoo o ook

2N,0; (g) —> 4NO,(g) + O,(2)
(H1 2)2
3)3 (4) O00OTImo
N A A M
gdl 25°c 00 0.591 v 0000000 OO0 QL
ON0D00T0IIar (r = 96500 LIOMOION,
R = 8.314 OUILIDOOTIO
(1) 1.0 x 10" (2) 1.0 x 10°
(3) 1.0 x 10 4) 1.0 x 10*

0.050 MHCI [J 20.0 ml 00.10 M Ba(OH), Ul
30.0 ml QI0M0OMI00I00OIDILIDIoC0N00nog

[OH] 000
(1)0.10 M (2) 040 M
(3) 0.0050 M 4)0.12 M

20 ml, 5 M NaNO, 0000107100 ml, 2M HNO,
[0O00i0i00Idooitotpy = 5.7 UIDOONOOO0
OI0DIIOMANO, OTKa I3

(1) 107 (2) 107

(3)4x10° 4)4 %107

300 ml, N/100 HNO, (000000200 ml, N/100
KOH 00000000000 00000 0o0lol =

03
(D2x 107 (2)2%x 107
(3)5% 107 4)2 % 1072

[00000ee OOUDIONDIOONIDOIUMOMDOmIOO
OIIO0mOT000n4.07A DIII00010.5 g cm-30]
Onio00DIOoonoodiomomIooa

(1) 107.09 (2) 201 (3) 98 4) 110
[HIDiOoOIOnoIonoog

CO + H,O = CO;, + Hy -—--—-- Ky

2H, + O, = 2H,0 --------- K,

oo on oo Croiooomooon
2C0 + 0, = 2CO0, is :-

Kl
WK K @ O)K K @K K,
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In which of the following compounds, breaking
of covalent bond take place :-

(1) Boiling of H,O

(2) Melting of KCN

(3) Boiling of CF,

(4) Melting of SiO,

Arrange the following in order of decreasing
boiling point :-

(I) n-butane

(IIT) n-butyl chloride
MHIV>TI>1I>1
Q) IV>IO>1I>1
BGI>IO>I>1V
@G> >1I>1V

(IT) n-butanol
(IV) Iso-butane

How many ¢ and = bonds are there in salicylic
acid :-

1) 100,44 = (2) 16 o, 4=n

3) 18 o, 2 4) 16 o, 2=

On heating to 400-500° C relatively unstable
hydrides and carbonates decompose. Which of the
following will decompose when heated to
400-500° C ?

(1) LiH, Na, CO, (2) NaH, BeCO,

(3) K,CO,, LiH (4) LiH, Li,CO,
Increasing order of stability of the +2 oxidation

state of the ions :-

(1) Ca*? < Sr*? < Ba*?

(2) Pb*? < Ge*™ < Sn*

(3) Ge*? < Sn*? < Pb*?
(4) Cu*? < Au™ < Ag*?
CsF— Cs*  + F AH =-40 k] mol”

If lattic energy of CsF is 750 kJ mol~. Then the
summation of heat of hydration of Cs* and F~ion
is :-

(1) = 750 kJ mol~

(3) — 710 kJ mol-

(2) =790 kJ mol-
(4) — 830 kJ mol"

Which of the following is the smallest cation?
(1) Na* (2) Mg
(3) Ca** 4) AP+

If the atomic number of an element is 33, it will
be placed in the periodic table in the :-

(2) third group

(4) VIHA group

(1) first group
(3) VA group

96.

97.

98.

99.

100.

101.

102.

103.

[0iooIOl Dimibmaotorgiooiooioniooor om
(1) Boiling of H,O

(2) Melting of KCN

(3) Boiling of CF,

(4) Melting of SiO,
J00noIoT o ooooon
(I) n-butane (I) n-butanol

(IIT) n-butyl chloride (IV) Iso-butane

MHIV>TI>II>1

QIV>II>1>1

BG)I>O>1>1V

GHI>UI>1>1V

OioindIoiooiiilie Ul 000000

(1) 100c,4 = (2) 16 o, 4w

(3) 18 o, 2m 4) 16 o, 2w

OOIEOnUoonoIDMMIONI400-500°C OI0OIOM

OMDO0IO0 OO 400-500°C 0010000

(1) LiH, Na, CO,

(3) K,.CO,, LiH

+2 UiiOioooooonmomniiooooIooon

Qoioian

(1) Ca*? < Sr*? < Ba*?

(2) Pb*? < Ge*? < Sn*?

(3) Ge*? < Sn*? < Pb*?

(4) Cu*? < Au™ < Ag™?

CsFy— Cs*  + F, AH=-40 kJ mol”
aq) (aq)

[lcsF U OINON750 kI mol LIMTICs* UL
F- Oouonooononoenoooioomo

(1) = 750 kJ mol- (2) =790 kJ mol-
(3) = 710 kJ mol- (4) — 830 kJ mol-

IR )

(1) Nat (2) Mg**

(3) Ca2* 4) A+

Uit oOrooobon 33, /00oiomomo
(00nooooon .-
(1) D000
(3) vaAllllO

(2) NaH, BeCO,
(4) LiH, Li,CO,

(2) D0l0I0000
4) ViIAI000
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Find the correct order :-

(1) BeSO, < BaSO, (solubility)

(2) Na > Li (reaction with N,)

(3) AI(OH), > AICI, (solubility)

(4) MgCl, > NaCl (solubility in ethanol)
Which of the following is a bidentate,
unsymmaterical, anionic ligand :-

(1) (dien) (2) EDTA*

(3) gly
Which compound is least soluble in aq. NH,:-
(1) AgCl (2) AgBr

3) Agl (4) Cu(OH),

Which of the following molecules contain plane

(4) oxalato

of symmetry.

C B

(A) M (B) M

(C) M en

en, A

Codes are :-

(1) A, D,
(3) Only A

108.

(i1) H,0

—>Y
) o, ,
02 5 x—
: (i) NaBH, 7
(ii) H,0 >

2) A, B, D
4 ACD

(i) LiAIH,
(ii) H,O

(E/H/J

Y and Z respectively are :-

(1) Both Y and Z
CH,-CH(OH)-CH,~CH,-CH,~CH,-OH

(2) Y = CH,~CH(OH)-CH,~CH,~CH,~COOH and
7 = CH,~CH(OH)-CH,-CH,-CH,-CH,~OH

(3 Y =CH;~CH(OH)-CH,~CH,~CH,~CH,~-OHand
Z = CH,~CH(OH)-CH,-CH,~CH,-COOH

@) Both Y &Z =CH,-CH(OH)-CH,-CH,-CH,-COOH

104.

105.

106.

107.

108.

00l Ooionl Ood

(1) BeSO, < BaSO, (00000

(2) Na > Li (N, IO OO0

(3) AI(OH), > AICl, (00000

(4) MgCl, > NaCl (solubility in ethanol)
il OIOimIntioiboooi Doltiioroood
i

(1) (dien)

3) gly (4) oxalato
J00I00DMaq. NH, 0I000IO000OOI0Mm
(1) AgCl (2) AgBr

(3) Agl (4) Cu(OH),
JoolooinoooroiooonIon 0 tm

(2) EDTA*

C B
D A C B
(A) M (B) M
Al B Al A
E A
B A
B B
(©) M \en (D) M \en
J c J
en__ | A
OOoolom
(1) A, D, (2)A,B,D
(3) Only A 4 A CD

s
Mo,
G H, 0E X
s

(i) LiAlH,
(ii) H,O Y
(i) NaBH,

(i) 1,0 Z

Y [0lz OOO00000::

(1) Both Y and Z
CH,-CH(OH)-CH,~CH,-CH,~CH,-OH

(2) Y = CH,~CH(OH)-CH,~CH,~CH,~COOH and
7 = CH,~CH(OH)-CH,~CH,~CH,-CH ~OH

(3 Y =CH;~CH(OH)-CH,~CH,~CH,~CH,~-OHand
Z = CH,~CH(OH)-CH,-CH,~CH,-COOH

@) Both Y &Z =CH,-CHOH)-CH,-CH,-CH,-COOH
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Which of the following reacts with the given
compound to give red-orange precipitate :-

NO,
NH-NH,

ON
(1) CH,~CH,~CH,-OH
(2) CH,~CH,~CH=0

(3) CH,~CH,~COOH
(4) D-Glucose

€]
(i) DIBAL-H S O OH
CH,~C=N o > X =2 Y > Z,
Z is :-

(1) CH,(OH)-COO0°
(2) CH, -CO0°

3) °00C -Cco0°®
(4) CH,(OH)-CH,,(OH)

Which of the following is incorrect :-
CHNe oM CHN M
(1) C=C C=C
15 \ H/ Ng
(Stability)

(2) H-COOH > CH,~COOH

(Reactivity for esterification)

3) @—OH > @—NH

(Reactivity for coupling reaction in alkaline
medium)

B
NogRcoe:
CH, C,H,

(Reactivity for hydrolysis)

W Correct ITUPAC name for the

Cl Br
compound is :-
(1) 2-chloro-4-bromopentane
(2) 2-bromo-4-chloropentane
(3) 4-bromo-2-chloropentane
(4) 1-bromo-3-chloro-1, 3-dimethylpropane

109.

110.

111.

112.

I Ommoi O oMo oo oo oooo

UomoIol Ot

NO,

NH-NH,

ON

(1) CH,~CH,—-CH,~OH
(2) CH,;~CH,-CH=0
(3) CH,~CH,~COOH
(4) D-Glucose

_ (i) DIBAL-H
CH3—C:N o

SeO
(i) H,0° X —=>

yAlR
(1) CH,(OH)-C00°
(2) CH, -CO0°

3) °00C -Cc0o0°®

(4) CH,(OH)-CH,(OH)

00 0100 000OE

CH; H CH;

(1) > < e
H

(00

(2) H-COOH > CH,~COOH

Y

_~
—C\

(i ma DDD Qozoo

o @y @

D DHDDD 0l 00000 Do

o o

{oipomoooa DDD DD

0

o
OAH Z,

H
H

gl il

W UoiorioiinurpAac UHIOLE
Cl Br

(1) 2-chloro-4-bromopentane
(2) 2-bromo-4-chloropentane

(3) 4-bromo-2-chloropentane

(4) 1-bromo-3-chloro-1, 3-dimethylpropane

( 100m 0000000000 000 001000000 )
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Which of the following compounds can show
optical isomerism :-

HO
HO OH CH,
M \Q/ 2) &

Me
3) %} (4) None

Me
Which of the following is most basic :-

NH, NH,
€] 2

NO, Cl

NH, NH,

CH,
3) “)
N,Cl
CuCN alkaline NaOH+Br, .

@ X hydrolysis Y - Z;
Z is :-

CONH, NH,
JORIO

CH,~NH, CBr,
3) “)
Which of the following is true for the given
compound :-

CHs—ﬁf—CHz—ﬁ—OH

(1) On heating gives acetone

(2) On heating gives CO,

(3) Reacts with Na to give H, gas
4) All

113.

114.

115.

116.

o WA A

HO,
HO OH CH,
M \Q/ ) O

Me
3) <> (4) 0000
Me
[inI0ItIboooolomon er
NH, NH,
€] 2
NO, Cl
NH, NH,
CH,
3) “)
N,Cl
@ CuCN X h;(lilijlyrfj Y NaOH+Br, Z;
yAlR
CONH, NH,
CH,-NH, CBr,
3) “)

O A O
CH,~C-CH,-C-OH

(1) D0IOo0or oot o

(2) 001010100 co,, ti0m

(3) Na 010D 00 H, OOI007 O
(4) OIZ

C 00000 00000 LOO0 0000 0000 Co0oo Qi onoo doooo )
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Baeyer's CrO

AN
7
reagent

>Y; X and Y are :-

i

ey
2)

3) OH

(I
(K
(L
(L

“)

oo an;

Which of the following is incorrectly matched:-

CHO
0@ e

Etard reaction
(1) CH,COONa

CH=0
(2) @/ + (CH CO)Z (11) Hydrolysis

CH=CH-COOH

(1) CrO,Cl,
(11) Hydrolysis

: Perkin's reaction

OH OH
CHO
3) @ + CHCI, _Xou, ioj/

Reimer-Tiemann reaction

?Hs CH,
(4) CH~C-Cl SN, oy {=cH,
CH,

Williamson's synthesis
Which of the following is an example of addition

copolymer :-

(1) Decron (2) BuNa-S

(3) Nylon-6 (4) PHBV

Which of the following does not have hemiacetal
group :-

(2) Fructose
(4) Glucose

(1) Sucrose
(3) Mannose

118.

119.

120.

Baeyer's > X CTOR\Y; X 000y 0.

reagent

[HoniorOlooiooroonoet

CHO
(1) @/ Eif)cl-rl():/)drcollyels @/ :
OO0 OO
CH=0
@)[::r' + (CH,C0),0 —Biecom
CH=CH-COOH

- fIooromran

OH OH

CHO
3) @ + CHCI, _KoH, ioj/ :

J000-00oio Do

CH, CH,
(4) CH-CCl 10N, oy {=cH,
CH,
(0000000000
L0 O A
(1) Decron (2) BuNa-S
(3) Nylon-6 (4) PHBV

[HoNifrOrooniitoonoIboobonor Don ot

(1) Sucrose (2) Fructose

(3) Mannose (4) Glucose
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DIRECTIONS FOR Q. NO. 121 TO 180

d00o00ra21 Orase LOIOOOIOOO]

These questions consist of two statements each,
printed as Assertion and Reason. While
answering these Questions you are required to
choose any one of the following four responses.

OI0O00DOlOn OO0 0o Qoo oo omono
Qi 0oorooonoonioonoomno oo ol
O0o0mioooooam boooa

A.  If both Assertion & Reason are True & the | A, 0000000000 000000000 0000000 O0000 OO0
i:;sr(:;nls a correct explanation of the 0000000000 Om
B. If both Assertion & Reason are True but | B.  0I0I0000C00O000MDIONOICCIDIO COM000IC 000
Reasor.l. is not a correct explanation of the 00 OO0 D0I0IC 00N oM Om
Assertion.
C. If Assertion is True but the Reason is False | C.  0I000NIO00000CMO0IOO0 OI000 OOIO0OM
D. If both Assertion & Reason are false. D. (000000 Chtooim oooon 0oooo o
121. Assertion :- Viruses did not find a place in any | 121. Z/[7:- [DZII0OI00ZO OO0 00000000000m
;lassification. - P/ A A
eason :- Virus contain genetic material that IR .
could be either RNA or DNA. 0 A A
(H A 2)B 3 C 4D (H A 2)B 3)C 4D
122. Assertion :- Nitrosomonas and Nitrobacter have | 122. /07 :- S0 00 0000000 Oi00n0m
autotrophic nature. 0m
Reason :- Nitrosomonas and Nitrobacter have nif L0« D0070rrrcnn 00 0000 nif gene
gene. (D00 0Do0oOn0om
(1A (2)B 3)C 4) D 1A (2)B 3 C (4) D
123. Assertion :- Scoliodon has to swim consistantly | 123, /.- IOIO000IOIO000I000OO0IDOD0
to avoid sinking. OO0 0m
Reason :- It is due to absence of air bladder. A - TD0nOO O oMo Ol omroonoa
(H A 2)B 3 C 4 D (H A 2)B 3)C 4D
124. Assertion :- Parthenogenesis means production | 124. /7 .- OIIOO00C 00 OO0 DII0O0OZT OCOo o
of embryo directly from an antipodal cell. (000 0ioi O oo
Reason :- Antipodals are haploid structures b/ A W WA T
occuring in a normal polygonum embryo. IOI0I00 D01 O ool o om
(A 2)B 3)C 4 D 1) A 2)B 3)C 4 D
125. Assertion :- Most of the haemoglobin in ourbody | 125. /.- DDITIOIOMOOINOI0T000Re. 007
has 2o and 2 polypeptide chains. 2B chain D00I00000
feason = Hlacmog BB 1 conjugate protein and [0y -~ NII0T00O0I 000 O INo0I00
as 4 polypeptide chain in its one globin
molecules. (OI00IO0nol4 Mool DO O Oom T
() A 2)B 3)C 4)D (1 A (2)B 3 C 4) D
126. Assertion :- During anaphase-[ sister chromatids | 126. L7 .- 000001 Ol0ImIooion0monoor oo
are not separate. Hi0oolomoooonooom
Reason :- Splitting of centromere takes place in Ay .- 000000000 nO O
anaphase II. (o0 o
(1) A (2)B (3) C (4) D (A (2)B 3C 4 D
127. Assertion :- Jaya and Ratna are improved varieties | 127. /] .- QUL D000 00000 00002000000

(E/H/J

of wheat.
Reason :- These are protein rich varietes.
(A (2)B 3)C 4 D

Ly -- 00Omoooomiaoonm

1 A 2B 3 C “4 D
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Assertion :- Pomato is good example of somatic
hybrid.

Reason :- 1t is resistant to aphids.

(H A 2)B 3)C @ D
Assertion :- Random change in gene frequency
occuring in a small population by chance is called
genetic drift.

Reason :- Genetic drift operates on both small and
large populations.

(H A 2)B 3)C @ D
Assertion :- Only certain prokaryotic species are
capable of fixing nitrogen.

Reason :- Reduction of atmospheric nitrogen to
ammonia by living organisms is catalysed by
nitrogenase enzyme, found any in certain
prokaryots.

(H A 2)B 3)C 4 D
Assertion :- Non cyclic photophosphorylation is
more efficient in creation of proton gradient than
cyclic photophosphorylation.

Reason :- Non cyclic photophosphorylation
involves reduction of NADP* and photolysis of
water.

1A (2)B 3)C “4 D
Assertion :- The milk of 1* transgenic cow, 'Rosie’
is far better than natural cow milk.

Reason :- It produces human protein - alpha
lactalbumin enriched milk.

A 2)B 3)C @D
Assertion :- The malpighian corpuscles, PCT and
DCT of the nephron are situated in the cortical
region of the kidney.

Reason :- In majority of nephorons the loop of
Henle is very long and runs deep into the Medulla.
1A (2)B 3)C “4 D
Assertion :- Unmyelinated nerve fibres are
commonly found in autonomous and the somatic
neural system.

Reason :- They don't have myelin sheath because
they are not enclosed by Schwann cells.

(H A 2)B 3)C @ D
Assertion :- Scientifically it is correct to say that
the sex of the baby is determined by the father and
not by the mother.

Reason :- The presence of X or Y chromosome
in the sperm determines the sex of the baby.
(H A 2)B 3)C 4 D

128.

129.

130.

131.

132.

133.

134.

135.

L7 .- 0000 Onoo0 0o 07 oot 0oooe dm
Ly -- 001010000 000000 00000 0

1 A 2B 3)C 4 D
L7 -0 0N Doromomnotmoondonog
[I00000 OIDontor lodoon 000w o

L7 --100000ONo00onononroiionoonn
000 Q100 00e0 O

(D A 2B 3)C 4) D
WA/ 0
(oo ooololooeim

WA/ 0 A
I R R g
[0OIODIMOImoOr oo oon O O

(D) A ) B 3)C 4 D
WA/ 47/ A M M A AL
A M A M A
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4y .- 00000000 onoI0INADP 01
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() A ) B 3)C @D
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DA/ ) A M
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1A 2)B 3C 4 D

JA/// 7| 1 1
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Assertion :- Human exploited the variations that
were present naturally in wild populations of
plants and animals.

Reason :- Variations are base of new adaptations
for better survival.

(H A 2)B 3)C @) D
Assertion :- The unmodified allele, which
represents the original phenotype is the dominant
allele and the modified allele is generally the
recesive allels.

Reason :- The modified allele could be
responsible for production of a non functional
enzyme or no enzyme at al.

(1 A (2)B 3)C 4) D
Assertion :- Health is not just absence of diseases.
Reason :- 1t is state of complete physical, mental,
psychological and social well-being.

(1 A (2)B 3 C 4 D
Assertion : Eutrophication is the natural aging of
a lake by biological enrichment of its water.
Reason : B.O.D. of eutrophic lake is very low.
(1) A 2)B 3 C 4 D
Assertion : Small animals are rarely found in
desert.

Reason : Generally surface area of Desert animals
are less in compared to their volume.

(H A 2)B 3 C 4) D
Assertion :— In realistic situations, x-t and
v-t graphs should not have sharp kinks at any
point.

Reason :— Velocity and acceleration can not
change their values abruptly at an instant.
Changes are always continuous.

(H A 2)B 3)C 4) D

A moongphaliwala sells his moongphali using a
weighing machine in an elevator.

Assertion :— He gain more profit if the elevator
is accelerating up.

Reason :— The apparent weight of an object
increases in an elevator while accelerating
upward.

(H A 2)B 3)C 4 D
Assertion : Work done by or against gravitational
force in moving a body from one point to another
is independent of the actual path followed between
the two points.

Reason : Gravitational forces are conservative
forces.
(H A 2)B

3C 4) D

136.

137.

138.

139.

140.

141.

142.

143.
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Assertion :— The phase difference between any
two points on a wave front is zero.
Reason :— Light from the source reches every
point of the wave front at the same time.
1A 2)B 3)C @D
Assertion :- When a particle moves in a circle with
a uniform speed its acceleration is constant but
the velocity changes.
Reason :- Angular displacement is a vector.
1) A 2)B 3)C @D
Assertion :- For an ideal gas change in internal energy
is zero if the temperature is constant, irrespective
of the process being cyclic or non-cyclic.
Reason :- For all process change in internal energy
AU = nCy, AT is independent of path.
1) A 2)B 3)C @D
Assertion :- Two spheres of same material have radius
r; and 1, respectively and temperature 4000 K and
2000 K respectively. The energy radiated per second
by first sphere is more than second sphere.
Reason :- In thermal conduction, energy is
transferred by transference of particles of
conducting body.
1) A 2)B 3)C @D
Assertion :— In a S.H.M., kinetic and potential
energies become equal when the displacement is
1/+J2 times the amplitude if at mean position
potential energy is zero.
Reason :— In SHM, kinetic energy is zero when
potential energy is maximum.
1) A 2)B 3)C @D
Assertion :- When a spring balance is pulled by
two forces of equal magnitude and opposite
directions, its reading must be non-zero.
Spring Balance

Fe—o—( i’y o 5

Reason :- For shown spring balance, the net force

acting on the balance is zero.

1A 2)B 3)C 4D
Assertion : A metal piece and a similar non-metal
(stone) piece are dropped from the same height
near earth's surface. Both will reach the earth's
surface simultaneously.

Reason : There is no effect of earth's magnetic
field on freeely falling body.

1A 2)B 3 C 4 D

144.
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146.

147.
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149.
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Assertion :- Various regular polygons formed by
a constant length current carrying wire, then
magnetic induction at their centres are increases
when their number of sides increases.

Reason :- Various regular polygons formed by
a constant length current carrying wire, then
magnetic moment of polygon decreases when
their number of sides increases.

) A 2)B 3)C @D
Assertion :— At any instant, if the current through
an inductor is zero, then the induced emf may not
be zero

Reason :— An inductor tends to keep the flux
(i.e. current) constant

1A 2)B 3)C @D
Assertion :— The division are equally marked on
the scale of A.C. ammeter.

Reason :— Heat produced is directly proportional
to the current.

1A 2)B 3)C @D
Assertion :— Electric field outside a steady current
carrying wire is zero.

Reason :— Net charge present on current carrying
wire is zero.

1A 2)B 3)C @ D
Assertion :— The time period of revolution of a
satellite close to surface of earth is smaller than
that revolving far from surface of earth.
Reason :— The square of time period of revolution
of a satellite is directly proportional to cube of its
orbital radius.

1A 2)B 3)C @D
Assertion :- The sun looks bigger in size at
sunrise and at sunset than during day.

Reason :- Differaction is the bending of light rays
around the corners of an object.

1) A 2)B 3)C @ D
Assertion :- The de-Broglie wavelength of an
electron accelerated through 100 volt is 1.227A.

Reason :- \ = %A
(DA 2)B 3 C 4) D

Assertion :- o particles have least penetrating
power of the three types of radioactive rays.
Reason :- 1t is because o particles are massive
particles and hence they are easily stopped.
A 2)B 3 C @D
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Assertion :- The width of depletion layer is same
for all p-n junction.

Reason :- No free charge carrier in depletion
layer.

1A 2)B 3)C @D
Assertion :- Thin drops of liquid resist deforming
forces better than bigger drops.

Reason :- Excess pressure inside a drop is directly
proportional to surface tension

1) A 2)B 3)C @D
Assertion :- Elevation in boiling point of aq.
solution of 0.1 m NaCl and 0.1 m KCl are same.
Reason :- NaCl and KCl do not dissociate in aq.
solution.

1A 2)B 3)C @D
Assertion :- Molar conductivity of a weak
electrolyte at infinite dilution can not be
determined experimentally.

Reason :- Kohlrausch's law helps to find the molar
conductivity of a weak electrolyte at infinite
dilution.

1) A 2)B 3)C @D
Assertion :- KMnO, acts as oxidant only.
Reason :- In KMnO,, Mn is in its highest
oxidation state.

1A (2)B 3)C “4 D
Assertion :- Active complex is unstable with high
vibrational energy.

Reason :- Active complex is an intermediate
product

1) A 2)B 3)C @D
Assertion :- A spontaneous process must have
positive sign of AS,

Reason :- A spontaneous process must have
negative sign of AH.

1) A 2)B 3)C @D
Assertion :- Azeotrophic mixtures are formed
only by non-ideal solutions and they may have
boiling points either greater or less than both the
components.

Reason :- The composition of the vapour phase
is same as that of the liquid phase of an azeotropic
mixture.
1A 2)B

3C 4) D
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Assertion :- For the reaction at certain temperature

Alg) + Blg) =—— C(9)
there will be no effect by addition of inert gas
at constant volume.
Reason :- Molar concentration of all gases
remains constant.
(HA 2)B 3)C 4D
Assertion :- In zinc blend structure S—2
consititutes lattice and Zn* ions are present in
alternate tetrahedral voids.

) . N3
Reason :- Distance between Zn*? and S~2 is T a,

where 'a' is the edge length.
3)C
Assertion :- PCL hydrolyse to give H,PO,.

1A 2)B 4) D

Reason :- Central atom always disproportionates
during hydrolysis.

1A 2)B 3)C @D
Assertion :- IP of F is more than CI .
Reason :- Due to repulsion between lone pairs,
size of F is more than CI .

1A 2)B 3)C @D
Assertion :- The dipole dipole forces are more
distance sensitive than ion dipole forces.
Reason :- Dipole dipole forces an relatively
weaker than ion dipole.

1) A 2)B 3)C @D
Assertion :- Solution of Na in liq. NH, can work
a reducing agent.

Reason :- Reduction occurs due to breaking of N-
H bond.

1) A 2)B 3)C @D
Assertion :- KCN reacts with solution containing
Cu** to form K, (Cu(CN),).

Reason :- CN can work as reducing agent as well
as complexing agent.

1) A 2)B 3)C @D
Assertion :- For reduction of Iron oxide, C is a
good reducing agent at higher temperature but CO
is a good reducing agent at relatively lower
temperature.

Reason :- At higher temperature entropy change
is higher compared with law temperature.

1) A 2)B 3)C 4 D
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MAJOR TEST : AIIMS

TARGET : PRE-MEDICAL 2013

24-05-2013

Assertion :- Given reaction follows the first order
kinetics i.e. Sy

[S]
[©] e
(CH,);C-Br + OH,,,, — (CH,);C-OH + Br

Reason :- All halide mainly undergo S reaction

with good nucleophiles like 8H
(1A (2)B 3 C @D

@D
HI(excess) _2 @—CHZ—I + I@

Reason :- Reaction follows S,» mechanism
1A 2B 3 C 4D
Assertion :- Methyl ketones can be oxidised by

Assertion

haloform reaction.

Reason :- Strong oxidising agent like KMnO 4|H®
is used at elevated temperature in haloform
reaction.

1) A 2)B 3)C @D
Assertion :- Amines are less acidic than alcohols.
Reason :- Amines form weaker intermolecular
hydrogen bonds than alcohols.

1A 2)B 3)C @D
Assertion :- Any change in primary structure of
proteins creates a different protein.

Reason :- A specific protein has a specific
sequence of amino acids in it's polypetide chain.
1) A 2)B 3)C @D
Assertion :- Following reaction gives syn addition
product

Dose{ —z 6-6<
OH OH
(glycol)
Reason :- The reaction is used as a test for
unsaturation.
(H) A 2)B 3 C 4D

United Nation has released "One Women" album
on the occasion of International Women's Day.
Name the Indian artist who was the member of
this album?

(1) Anoushka Shankar

(2) A.R. Rehman

(3) Amzad Ali Khan

(4) Mallika Sarabhai
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24-05-2013

Scientists in northern Mexico discovered a new
dinosaur with a large prominent nose which lived
about 73 million years ago. What is the name of
this new dinosaur?

(1) Latirhinus Uitstlani

(2) Gigantoraptor

(3) Khaan

(4) Raptorex

The International Date Line is approximately
equal to :-

(1) The equator (2) 100* meridian

(3) 180" meridian (4) None of these
Which of the following is not correctly matched?
(1) Bhangra-Punjab

(2) Bihu-Nagaland

(3) Garba-Gujarat

(4) Tamasha-Maharashtra

Which is the only state that touches Sikkim ?

(1) Assam (2) Meghalaya
(3) Arunachal Pradesh (4) West Bengal

Which one among the following is the fastest
Indian Super-Computer developed by ISRO?
(1) Aakash-Al (2) Saga-220

(3) Tianhe-1A (4) Jaguar-cray
Which one of the following pairs is not correct?
(1) Sriharikota-India's satellite launching centre
(2) Bangaluru-India's space application centre
(3) SLV-3-India's four stage rocket

(4) Thumba-India's first earth satellite station
Which one of the following pairs is correctly
matched ?

(1) Vitamin B1-Retinol

(2) Vitamin C-Calciferol

(3) Vitamin B6-Niacin

(4) Vitamin B2-Riboflavin

Fathometer is used to measure :-

(1) Earthquakes (2) Rainfall
(3) Ocean depth

Dr. Zakir Hussain was :-

(1) The first Muslim President of India

(2) First Vice President of India

(3) First President of Indian National Congress
(4) First Speaker of Lok Sabha

(4) Sound intensity
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Who among the following scientists shared the | 191, 000001000 DOX0O000DIOO00OOI0IO00I00

Nobel Prize in physics with his son ? 0 O T

(1) Max Planck (1) Oz ioio

(2) Enrico Fermi (2) 00Onoon

(3) Albert Einstein (3) U000 0o

(4) William Henry Bragg (4) 0000000 oo

Who among the following was the first woman | 192. [[I0I0UIIO0N 0000000 D00 0D 000

Chief Justice of a High Court in India? 00T OIDo Qoo Oim O

(1) Leila Seth (2) Rani Jethmalani (1) D {ooo (2) 000 OooOna

(3) Geeta Mukherjee  (4) Sujata Manohar (3) Ul0m oo (4) D000 0000

Who coined the slogan "Jai Jawan Jai Kisan"? | 193. [I00I000I 000100000 DO0CI IO00D 00T 00O

(1) Mahatma Gandhi  (2) Sardar Patel (1) 00007 Ol (2) U0t ooo

(3) Lal Bahadur Shastri  (4) Jawaharlal Nehru (3) UId0 0o ioan (4) U000 Olor ood

When Mahatma Gandhi was assassinated, who | 194, OO0IIOIOINIOI0I0D0DOMD00OOTONO00IO0T

said, "None will believe that a man like this body . 0 A O

and soul ever walked on this earth"? (000 Q00 000 Dioo tomo oboo oo 0o oom

(1) Leo Tolstoy (2) Albert Einstein (1) [d0IIOooo (2) U000 Ao

(3) Jawaharlal Nehru  (4) Bertrand Russel (3) DOl0Iooraoo (4) 00000000

The President of the Indian National Congress at | 195, JUIIII0IOTI0000TIOTO0DTOOI00O0ION00IOoDTOD

the time of Indian Independence was :- QinOI o dooon Oimnd

(1) Maulana Abul Kalam Azad (1) Ui ool ool 0o

(2) J.B. Kripalani (2) OO OO0

(3) Jawaharlal Nehru (3) OOOo a0 ooa

(4) Rajendra Prasad (4) IOI0C000

Which term is given to the relationship between | 196. UL LIINIIO00 O O0OC D000 U000 0000

culture and food? 100011000 Omnoc

(1) Astronomy (2) Agronomy (1) 000 (2) OO0

(3) Gastronomy (4) Geology (3) 0001o0n 4) 000

The novel ‘Coolie" is written by - 197. (00010000001 000000000

(1) R.K. Narayan (2) Prem Chand (1) ImOm oo (2) 001010

(3) Mulk Raj Anand  (4) Jainendra Kumar (3) 000100000000 (4) 0001000

The first month of Saka year is :- 198. 1100000 O 00000 0000 O] O

(1) Chaitra (2) Paush (1) 00 ) 0

(3) Vaisakh (4) Jyeshtha (3) O (4) 0000

Beirut is the capital of :- 199. 00011001000 0N X00700 0

(1) Syria (2) Jordan (1) 070 (2) 000

(3) Libya (4) Lebanon (3) 0000 (4) 0000

Santosh Trophy is associated with :- 200. DI0IONOIOMI000 0000 00 000m000 0

(1) Football (2) Cricket (1) 00010 (2) 1000

(3) Hockey (4) Badminton (3) 000 (4) 0000
e
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